



■ 1 (左辺) = $1 + \frac{2a}{b} + \frac{2b}{a} + 4 = \frac{2a}{b} + \frac{2b}{a} + 5 \dots \textcircled{1}$

$\frac{2a}{b} > 0$, $\frac{2b}{a} > 0$ だから, 相加平均・相乗平均の大小関係より

$$\frac{2a}{b} + \frac{2b}{a} \geq 2\sqrt{\frac{2a}{b} \cdot \frac{2b}{a}} = 4$$

よって, $\frac{2a}{b} + \frac{2b}{a} \geq 4$

これより, $\frac{2a}{b} + \frac{2b}{a} + 5 \geq 9$

①より, $(a+2b)\left(\frac{1}{a} + \frac{2}{b}\right) \geq 9$

■ 2 (右辺)² - (左辺)² = $\frac{x^4 + 2x^2 + 1}{4} - x^2 = \frac{x^4 + 2x^2 + 1 - 4x^2}{4} = \frac{(x^2 - 1)^2}{4} \geq 0$

よって, (左辺)² \geq (右辺)²

$|x| > 0$, $\frac{x^2 + 1}{2} > 0$ なので, (左辺) $>$ (右辺) すなわち $|x| \geq \frac{x^2 + 1}{2}$

■ 3 (左辺) - (右辺) = $a^2 + b^2 + c^2 - ab - bc - ca = \frac{1}{2}(2a^2 + 2b^2 + 2c^2 - 2ab - 2bc - 2ca)$

$$= \frac{1}{2}(a^2 + a^2 + b^2 + b^2 + c^2 + c^2 - 2ab - 2bc - 2ca)$$

$$= \frac{1}{2}(a^2 - 2ab + b^2 + b^2 - 2bc + c^2 + c^2 - 2ca + a^2)$$

$$= \frac{1}{2}\{(a-b)^2 + (b-c)^2 + (c-a)^2\} \geq 0$$

よって, $a^2 + b^2 + c^2 - ab - bc - ca \geq 0$